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PP .DAND NWA TR NYRTT SNTRA NI T 22707 INTRA 12w mpn 01 mnsw oinn A o :1.1.2 noown
219 1 mpw mxan mpon A 5o nviwwa atw K = A/m 1 nopa nrw K

ArTamwannun A (R)

Jpswamo A (3)

SYNTIIORTPR DA (D)

dimg(m/m?)=1 (1)

.M 5w apm un A 5w pann anw SRPR 5 (R)
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O T¥n LRI Pvawn 31 N1OR] 7 tm Z m a0 ¥ oy A
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YV InYwnY 725 mnyay maL,(A, m) mipn 10 pnY 113 259 (NN NP VIVA RIN 199 TR 110 HRTR
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0 - Ker(k) == Ker()\) el Ker(pu) £ Coker(k) £ Coker(\) L4 Coker(u) =0
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ny Mmoo (a, ) — ax Y mmn A X M — M 15poa %050 npnym (x,y) — = — y P Yy mmn
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N R mpn A/ng, v AR (3) 77702 WINY T3 PNk YY MEpITR LOYRDI0 1aR2) DNTIN NNY AN

201 A 3% rorin mpn (n, = 00) A = A/n,, 0191 .90 DY A%n NIwIYn
DRY ARIN DATIPN IPDAL MTIV MRIVIV DY DNTIN DN YV MNY MRIYVIY YV DPRann nadvnn

| SP0IR Ak o A

JOIR N Y mann 3.3
DORTR YV NTIP 1770 YV 2PN TIRA RN 1 OR L1 N A N Yv  (9p TN IR)  ThRY INR)
A pow an v no o .n = dim(A) 1poy LA Sv DNYRY DORTR YV P, D - D Py DINVRY
VIR NN SV MO 190N YV 1Y 1YY aTIMPR A 19 YY > .0 TRnn 701 BN ,PYT AP 701 DN NN

.0”YMpn
23mun A poInan by p omwrl Sxr 9 :3.3.1 Ioown

.oy Bx O Bx? O Bx® D avton & # 0,2 € Bamn B = A/p mnbon onna mam - a0
maixn Nwn Nk oenwy 2" = 2"ty wpy € B op 19v Br™ = Bz v 19 w10 noxar op

[ Y013 ,A 5v 170 SRR RN P v RIM LTV B 1Y pan z,mank onma .1 = xy Hapyh
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9V ND1APY? YW DY 75010 PUIN 10 oW 2o pwIva :3.3.2 170D

TR MNAY Ppn RN R A S0 DORTR YV 90 PN epn A N2 P NWRT HRTR ORY 1O

Lo Poavn ;31 N72I5R] DONNIN
(DPNYRT DONTN 5w 291D 1900 7 1991) D731 DIINTR 5w 2010 1900 1 w0 A puan anb :3.3.3 l0DWN

S50 DPMON NNN Y3 NXIAPY W 1Y A AR A v 07100 DYRTRA DNIAP LN Y91 00 A
dwp Py m N, m = ()i, My IR RNV 20 YRR MO )1 M, MY IR 07290 DORTR

[ m=m;,1mnnmI1»n.mom; v
1" =0 v n opImo ,milpotent) 02ax 17 puI® N Y 1P YW :3.3.4 10DUD

v Y MM a = nf o om > k939 nf = n™ v 7 opav k pn n1iva nawvawn v :anon
SRR ¢ . nrR ab # 0 mwpnn b ORTRA 9 Yv B axnapn oY aa = n?k =a£0m.a#0
v ,ac C cra(ac) = a?c=ac# 0100 .ac # 0w P c € c mp PY .ac # 0 vI91 B2 ym
a=0vPvwnmwpacalniYin.ac=cvia € ampiad.ac=cv c Y NMMIvmin

2

| ac#Qvpvnrmma,c=ac=a‘c=---=a"c=0,25

.Hle mi = 0 v ovwn op 8. A poIvnn 5w 07107 DONTRI My, ..., m, P :3.3.5 N7

(3

3.3.4 noawn % o0 nwIvn X0 1 L,3.3.2 mpon Y LA Hv NPy VW 1 = ﬂ:zl m; o NN

| avon JT_, m? € (N, m)" =n" =0, .0" =0 v 7910 n 0P
dim(A) = 01701 A ox p1 oy vk np A nn :(Akizuki vawn) 3.3.6 vown

dim(A4) =0 ,3.3.1 poawn ay powr nnun A w ma anon

) .Hle m? = 0w P oyion op,3.3.5 MY 9> A YV DI DORDRA My, ..., M, VD
7oy A,3.2.5 nnY

07PN OPNYRT DORTR YV 200 10on 71 A 2 v v .dim(A) = 01 A v o jand
VRN TR 959 Yan ,dim(A) = 0 v Amnnn %N DYRTRA My, ..., m, PR [0 PVawn ,31 NTIOR]

m=m; ,PN 1 <7 <7 RNY APR MY M, Ppn RINOIR OPIVRT HRDR RN M OR 2270 HRTR RID

v LA S0 han pwivn xn n = ()_; m; 1Y% LA Sw 0rnorIn ORTRA Y3 00 My, ..., M, Y IR0
o1 or .z = 0w 72 p20 1y DP @ 930 0701 A v AMINA DYNNYN MR IRI) 1YY DY T, ..., T
| o A,3.25 mboey aw L mP =010 =0vapn=n; + - +n,
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wwan A -5 xn M ox 0192 000 798 M 5w orn 0o avn A -5 Moy poas smn A s :3.3.7 arxIn
(M) =1r-1(A) m,r mm

LAKkizuki vawn »a% .((2)3.1.3 Ar¥IN) NN NIWIVA RN IR pn M poar mnan AvYrin anon
7 IR wan M oor L0791 0910 TIR Yva M 155 050 nawavn oxan nr oy oopn M 1% avaanrin A

i I(M) =r-1(A) vy 70 wxpna Yv nyNanan LA S opny r v 7w 0o 1 M o

m P9 (3.3.1 Poown 2a%) A YV PN MVYRIN YRR RN M R PN PYIR 2N un (A, m) ox
5 I JDAR IR PON RN A YV 7aR HIV YA RIN JDAR PN M Y T2R 97,195 LA SV DN SRTRA DY RIN

2MWRY p MY Z/p"Z an i nnb MY 20aR IRy m 03 ,3.3.4 Poawn 2% 1>

DR DNINA 29 TR pr11 opnn (A, m) smpn 101 nn may :3.3.8 [loowD
pwn mMmt £ mtt (r)

2p0IR A prmppa.m” =0 wpoywn op ()

99 oo A m” 01 Ay oxin.m” = m™ T v 1930 1 Dp ™ .DPHN WK (R) RNV A AN

[ aP0IR A ,3.2.5 b rad .m™ = 0,23 poawn ,32 n72aOR] NP1 S ndn

7Y 75003 (DPAMMPR 27 TV) IV JONI XAY [N PUIR DN 5 ((POIR NN YV Niann vawn) 3.3.9 vown

OPMPN POIR AN 2W 29D 1908 SV

v P ooyav nomm 3.3.5 nY LA Sv mnwn D2mn ORTRA My, ..., M, P :0Ppa DN
L(2)R0.8 PVaYN ,31 NIDOR] 2aY ,199 .Y AT DT MY D3 ,ATD AT DNWY 0PI M, 1 DRIN .H;l m; =0

m/ml 2270 YRR 1Y) mpn poIr nn xn A/m? ann i S may A X [[_, A/m?

v N NYYHN nhN Y1 ompn PYIR AN R’ A wxa A = szl Aj v o mpmn nnom

Poawn ,31 K] b .a; = Ker(m;) » nmvknnon abonn 7 A — Ajon j o A = [, A

S

M A 50 PR amn YreRn q;0m 90 [ e = (jo a5 = 0 v o a, .., as [0

A AT DNV MY, L, ML 9 LA DY 02 SRTR R m; = wjfl(qj)

mi(m') P m’ € ml wpnn j 935 mank .orm’ A NS M Xm0, A 5w 229 SRR AT DR 1NV
m +a; =Awpomi(m') = A; 1Y A Y0 q; TR 1IN SRTRL Y9 R A YD HRTR RN
v 2 2 € m’ 12X H1p3 YR NIV S IR P DR .1 = T + a; © PP a; € 6;1T; € M R9OR WP

DIRIORTPRINT MY PO oA, s =1pP%a---as =0, pmpnnpoanab.l =z 4+ aq - - ag
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mpon A, ..., A, DRI YV WINN MADN INRYYI T = 5 Y 1NY MNINRA DIRPDON NYN
3.3.8 Poawn 1Y ompm IR A o prvR Ayowin g =1 ro i (g) = myym; = m
;.. JRY J » ] [ A | q] J J J
—1 —1 .
a;=m(0)= ™ (q;)" =m? 19597 = 0 opnn j 9250 P n op

J

.mgn = m? v 2PN m < now ik Yo R ,Lj I mgn = m?“ Y 79 901 YV 190N RIN M DR

JOR1 AP DM DN S 1590NY A YV Pran ba 1PN A *P YV 137 TN 1aK1 RIR DYIPI A, DIRTRN

[ | RaR) i ip)
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™nn nvn 4

R A or LA Y9 DMURI DORTR YW Po C -+ C Py, NIVIV SV 2700 TIRD 192 DD A 00 Y THnn
Sv nY MY V5w ann iR ,A Yv ooarn ny 00 V1 A noadr 1m0 07w Syn noo1o nav nnavr

LA Yv nyonaon nTY Y% DR TNnn Man *5Yn napna .(4.1.5 vawnn npon) A

DP9 N Yw 1nn 4.1

mw LK nTw Yyn and mao avnn mndw onn xR DR mnd xR0 ar gopyoa union
5w Ppnn VaVYRY “MYYN Vawn” on NNy wvmn oYn dim(R) = trans.deg(Quot(R)/K)

V)|

Sw ornwn1 oo q C q' v AbSynosw By ponn A C B v ([ arein 31 madr]) 4.1.1 anY

qg=q wgqNA=qgnNAvmrn.B

p1 Cp2 v Adynow By ponn A C B ry () vavn,31 119R] wHyn vawn) 4.1.2 joown
R Pppn B 5 qo mwRT SNTR Dp R g1 N A = p1 v B 5w omunt S8TR q1 i A bw oonwnt DONTR

G2NA=pavpqn
dim(R) = dim(S) n.R »n syn oswann S o :4.1.3 nnY

SRR RN P; = ; N R L2995 .5 %9 0nwoR) o9RTR YO W qo C q1 C -+ C qp D A0
dim(S) < dim(R) 9% po C p1 C -+ C py 4.1.1 MY 295 R HYv mord

SV A0 MWYIYY ANINY MM 12 5v DINWRT DYRDR YV A0 NIWIY Y ,HYYN VaVN *ad 39Nk

NP1 PNYN MRS AT MY R v or dim(R) < dim(S) ;199 k0 imr ndya S 5w DrnwRT ORTR

u dim(R) = dim(S) ,vawnn mpon nr Yapy nompn

1 K atw 5yn (nm) mow wna mpsw omn R = Kz, ..., x,] ' (301 Y0 npnn vawn) 4.1.4 npY
Klz1,...,z,] v K Synmimdvomonorxw R atq, ... t, oopanr = trans.deg(Quot(R)/K)
Kty ..., t,] 5ynodw

mpnInR g =1,...,n,t; = 2; MmN r = n R, K Yy mInvr 00N OPR T, ..., Ty DR AN
v a; € KX opie %% oo or mndw oaon Y i = (i, ..., 0.) nvn Yo I npn &Y nxiap
.Zaixﬁl--wff =0 (1)

icT



919501 (1) 1y = a9 — foQ, e Yn = Ty — :v'f” ¥ 0Yav 0Maon ko, ..., ky VI

> asat (y2 + 2h2) - (g + 2)") =0 (2)
iel

v fi; € K[X1,..., X,] owwhe %1pn (2) v imapna j o omn nk nno

kjvi; kji;
(y; +21°)" = fij(z1,y;) + 2y (3)
v fi € K[X1,...,X,] orhainn (3) oowan 95 50 nbean degy (fij) < kjij0
a,xil( + xk2>i2 .. ( + kn \in — f. i1tk tknin 4
ity \Y2 1 Yn Ly ) fl<xlay2---7yn)+a1x1 ( )

Dwhe (2) n Yapy (4) omoan 9 nr Do or  .degy, fi < ki + koio + - 4 kpip 0

v feK[Xy,...,X,]
f(ﬂ?l, Y2 ..., yn) + Z ai$il+k2i2+"'+k”i" —0 (5)
icl

v P ko, ..., ky DR AN OR DY degy, f < maxier (i1 + kodo + -+ Kpin) )
i1 + koio + -+ 4 kpin # 95 + koih + -+ knil,

APYN IR 1% (5) YV P Ik wn Tanna mmeny PrY Yapy 7 21,1 am ar onw oar 2w Y Nay
Klyz ..., yn] 990 1 My mpnn axion (5) mnn ,»apa

Jwra h(ke, ..., k) # 0w P awvn ko, ..., k, S0 nN2n

h(Ya, ..., Vo) =[] [(i1 + Yaia + - + Yoin) — (i} + Yaih + -+ + Ypi,)]
i1/
DMV TNTPNI DARN MNY DIPNA 1IN
Klya, oo yn] 990 090 Kx1,29,...,2,] = K[z1,Y2,...,yn] © v (5) m nmmnnn
RIOR MINN 712 9Y ETIR K (21, ..., @) SR WM R0 K 9yn K (Yo, ..., Yn) Y0 mYyan ndyn 0701
Klxy,...,z,) 03 2% Kty,...,t:] S9p 050 K[yo,...,yn] © P t1,...,tr € K[y2,...,Yn]
| Klty, ..., t.] Yyn oo
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F = K(x1,...,2,) ', K a1 5m nno waw wn nmsw onn R = K(xq, ..., x,] ' 4.1.5 oown
1, R 5y mmbn ombn oroN x4, . .., Ty D8 ,V192 . dim(R) = trans.deg(F/K) nx .R 5v mna nmw

dim(R) =n

o1ar 4.1.4 vown *ab rem Rl o = trans.deg(F/K) Yy mymmra vawnn nr o a9
A4.1.3 % rad K[t1,...,t.] Syn ohw R v 79 K Yon miadr omvn ovrw tq,...,t. € R
K 5yn nmadr ovn opR T, . . ., Ty 19990 nY0 Y1 Y dim(R) = dim(K[ty, ..., t])
PO v omnun R/q; =2 K[xip1, ..., 2] "™ .q; = Rry + -+ Rx; jpoan 9 1 pad 99
J . 7mn 0 C g1 C -+ C gy DONYRT DOYRTR NIVIY RIDR 191 LR HY mMWRY HRDR RID (;
1YY A9 R R Sv 07nwry oORTR Y0 09 NIwav 93 Yw 7IRIY 1NY R1ar 1Y I .n < dim(R)
Jf € proan om Rn R Y ornwry oORTR Yv a9 nwiw 0 C py C -+ C Py RIOR D
1R I OR v Mk Yo nebHon ndn vva 9% P Y Y f Sv mpra Ry o R Lf # 0
01IRY AN QON MnYY onn un R/Rf ;195 (R S0 mwri Y8R ua Rf o 0 pma Yya an un R
J@, oo 2l) =0vR = K[z),..., )] "r .Rf % oma 0nbw nmrwn nr prY 113 R Y 0ORTR)
nmnn trans.deg(K (z],...,2),)/K)) < n—1 1% K Sn mivdr omdn o),...,z, v
50 TPNVRT YRR SV Y N v Py C - Cpl gern dim(R) < n — 1w ady mepimsn

[ oy mavcm ,m <namva,m—1<n—1,19.m—17mn R

DINN YY OPNVRT DYRTR YV 072710 DIV Y3 Y9 JIRIY 12109 4.1.5 vawn N 9AnNnY N Ny

dim(R) nn K n7w Syn maw axnn R minbw

5vn mwoo v R’ 1 R ox .dim(R) > dim(R') »& .omn 5w orammwon a: R — R’ »w :4.1.6 nnY
nr oo, dim(R) = dim(R') 1 ,(K-apaymar na o v om armpnz) a € K D9 afa) = a1 K

DOPaNmrN

pi = a7 (pl) o3 i 995 LR 59 oronwr mORDR Y 19 mwaw py C py C - C Pl oan ann
dim(R) > dim(R’) ,1pY .R Y0 0700r1 YRR Y 09 11w R0 pg C Py C -+ C Py, MR

ab o = dim(R) = dim(R’) vy K-opanmwar nn a v, K Syn o o R/ 1 R w any mon
Iyt € ROomar 1 .Quot(R) Yv wh mw K Syn Quot(R) Yv r moyan nbyn ,4.1.5 nnY
IBOR OMON OPR £, ..., E D3R () = w9t € R AN 935 LK Syn mandr ombn orrw
mn a Yo adyan Lf(tr,. .., t) =00 P 0 # f e K[Xq,...,X,] owms op n ,mink LK Syn
K (ty, ... te) Syn maor Quot(R) 1Y 8, ..., t) npmay nvnoa, f (¢, ..., t)) = 0 mm
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D) NP 1PN 9% az)=0vPpPr#0,zeR P P ,OPaMPR PR R o WR

VP go,---59n € K[Xq,..., X;]
gn(t)z" + -+ g1 (t)x + go(t) =0 (6)

NN v AaM 1 APNo Lgo(t’) = 0 mimm (6) Y « nbyan ,7rRn Lgo(t’) # 0 1Y g # 0

[ | DODANNIPR

wx.proonowe f € R=K[Xy,...,X,] w :4.1.7 anY7

.dim(R/Rf) = trans.deg(Quot(R/Rf)) =n—1

LK 5yn maoR 09N DPRY T, ..., Ty 1 DR ML 2 oM X, w 0 NI nYN Y1 ann
A=Klzy,...,xp] om0 f(x1,...,Tp—1,2,) =00 P, € E-amn E = K(zy,...,z,) n0)
935 a +— a npnynn .trans.deg(Quot(A)) =n — 11 Quot(A) = K(z1,...,x,) ,mnd>v onn

opnn o: R — A oronmor nvmn i 99 X, — zva € K

gO(f(Xl, .. ,Xn)) = f(:cl, NN ,Cli‘n) =0

pom f(z1, . T, Xn) 9 g(z1, . Tp—1,2,) = 0 (g) =01 g € R or 009

YR DMON OPR T, ..., Ty 3 ORN K (21, 1) [ X)) M2 g(2, . 21, X)) DR
flzr, .. xn_1,Xy) ;oW Y0 Andn 2% Y 31y mpno a1 wa Kz, ..., 2,-1] 200
voom oy JRaglfvowon Kz, xn-1,Xn] 2 9(z1,. .. 201, X)) DR PYNN

,A4.1.5 vawn Y .trans.deg(Quot(R/Rf)) = trans.deg(Quot(A)) = n—1,9% Ker(p) = Rf
i Ty maw e dim(R/Rf) =n —1

N8 pppa nn B oy mnbwa mo modw onn A a ([ vawn ,32 NOR] AR vawn) 4.1.8 Ivown
S8R B 5 mp Ix o oyn nini B 5w mwur1 INTR q2 011 A v pomory moxmR Py C P v oy oo A

A2 22910 P1 oYN NNHI 1 NYRT

wnn Ay N1 9 5w 7Inn v KK 1w Svn o i v 9p 100 Sva nndw oinn R o :4.1.9 oown

ORI DPIURT DONTIN W a0

A.1.5 vawn 1Y LR Yw 0rnwrd OYRTR Y0 namn wnn vy nww 0 C qp C -+ C gy, 0N A0

79 K 5yn nmadr omvn orrw R S0 ¢, ..., ¢, AR mm 4.1.4 nnY . = trans.deg(Quot(R))
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SRPRMA P a = 1,...,m p; = q; N K[t] gpor .t = (t1,...,t) o2 K [t] Syn odw R v
P1 2900 9N AV Darn MY PONVRT SvTR K [t] Y 0p o0 nanr LK [t] Sv 1y varn 1w mwra
aY .1 2 99mn R 5w g mord Sr1r nnn p Yynw ,4.1.8 npn vawnn ya ,mndwa o K [t] 1 oxn
g1 Y9 nMymY nvnoa,qp n M 0 nn nnw q,4.1.1 arvn
SRR U K [t]f 199 90 ok f 9 minh Y9 mpna m ond pra o Yy Lf € pr ohe N
Adim(K[t]/K[t]f) =r —1,4.1.7 anYoab pp = K[t]f » y p1 Yv nmymnn .oarn ANy Mmur?
DINWRIN YRTRA N 1D md dim(R/qy) = r — 1 o K [t]/fK[t] Y9n ob® R/q; 1 %0
podm=r,p.m—1=r—1wvmmro vpmr.mmen0Cqe/q C - C qm/h

i
noan Koot ovn K[[Xq, ..., X,]] 07ma mprn v an 5w 51p 100w noa :4.1.10 nvya

07250 nyepne 4.2
Ag 9 AgAg = Ap vima A A, C Apan mminnoad LA = EB,ZO:O A, 3T nna am

on A, Yo mrarn Ag = A/AL Vv Avwovrrmn Ay = P,

n=1

A, o9 LA Sv an nn ’in
P 19K D7IMN DR YV 191D 1901 YW D100 MxnY N1 A Y 1ar Y3 .1 ndynn oramn
vio m,n 939 A, My C© Mo ipn R 7 A5 v M = @ZO:O M,, or ,amT joRa
0 n 939 Ag o an M, 199 AgM,, C M,
M = @ff:o M,, @ 97n 9% Z 5 oo oixnn A-5Tn prmopn cman jpnyn A o
(Poincareé series) niparia 10 nr wrm ,Ag Yyn ma10 i M, ornminn oaInnn TNR 99 10
vavn) Q(¢) 1 MYYXT PN NYYHY NN AT MOV oM A Y oma P(M,t) = > 07 A (M,,)t"
Apmraior 20 A orw mom d(M) 2 1pon ¢ = 12 wn pepnan 5o 20pn Sv 1700 .(4.2.4 nYdean

Q 21 on1pn oy e ’in A(M,,) D7 OO D7 My ok LA Sv DR Y 910 18010 T HY NN

mad(M)—1nSynn

Aty A = @~ o A 271000 5 pxan ownn :4.2.1 anY
Amanun A (R)
v AL 2 0mmn Ty, ..., 3 P prT M2 JAg mamoxy mawo wn A 1o anowa Ag (2)

A = AQ[LL‘l, e ,xr]

201 90 RN P9 A Sv man an xin Ag 90 wrw cad  :(3) 1 (8) nnon
JPAI0 3 1Y N1 A Y9 YRR N1 A v 93 0P PP Apniadrd oo navn A w ok 1o

07728 N2Y o0 P LA Y vn ar P A4 59 7R Y9 1m0 2590 93 o oy nviap A4 D an
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Ly oy T 20 MO9YNA DR dy, ..., d, 2003 AL = Z,’Lf:l Ax; 0 9 Ay 221, ..., 2, DOION
JNRNN2

Y N oYY WRPITIRG O Xy, ..., 2 0P 9V N A Sw oonn nn B = Aglxy, ..., @] oW

mmm k<nY A, CBwvwn>1lvmamy A C Byvphasowmm»onp A, C B

D"a; M IR DR Y = >

1=

LA4iT; VP ar, ..., a0 € ADp PNy € AL w y € A, mana
v N7NY M) WAIRN NV 1 NYYNN DPINN DR MYN PINRD 1171V DX ,0PINIMNN 1R YW DIDDI DV
i > 0390 .m < 095 Ay = 0w anoona nwnnwa panka v i = 1,...,7,a; € 4, g,

Y€ Aolxr, ...,z Y ar, ... ar € AglT, ..., @] ,OEPITIRD DNAN 2Y 39 0 — d; < noDPDN

»n N A 0191 0 vn N Ao SN MPNA NN YOV YN VIV HY DIVIAN VAVNN  :(N) 7 (2) Do

[ L0130 RIN AT DRI (N YW Man

N8 92 18 o0 W g Aomn M = @) My, 1aim wman A = @, o A, 0 :4.2.2 nnYy

Jroo s Ao -mn xn M 5w M, ormman oI0on

mmnn cad LA = Aglze, ..., 2] 0 P OoMIMN T, ., 2 € Ay p 4.2.1 and rab  :annn
50 DY Y1, ..., Ys PV Agmn xn M, P9 AgM, C M, 0101 .m,n 95 A, M,, C Mpy,1n
N RIOR MvnY My € M, AR Y3 .e; nYynn mmin y; © mnk Yo nedvon nban va LA Yyn M
nSynn mpYNn NRIWM A 1 Dmn DR YW DPoY a; prvoT Yy a; € Awriy = Y 0 a;y;
Ty, T 20N RN a; = fi(T,. .., 2) MmN aY L € Ap_c; W TIND YD maIRN WA N
g ®n fi (21, ..., xp) 199 deg(f;) < m,1pb avn ndynn smmn x; n TR 93 LA 2 nTpn oy
1590 MNNRD 10M RN .Ag 2 DNTPR OY 1Y MW IR MVP NYYRN T, ..., T, 2 DMNND Y YV IRDY

| D90 % Ag~omn wn M, o0
2y a1 ovnn Ago9mn npbnnn »man 1pnyn A

nn :4.2.3 an'7
0—-My— M —---— M, —0

oo (=1)IA(M;) = 0 1w . Ag =911 59 npr1n 1710

1=
R N; 1 M; — M1 npnynn 59 pymn R L; 2 1m01 19 m3 My =03y My =0 oy :anmn
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S A voxn g =0,...,n oy N; = L ,nmnn 2% .abw nnnnn

D (1PAM) =D (=1)HA(Li) + AN:))
1=0 1=0
n—1
= A(Lo) + Y (=1 (A(N:) = A(Lix1)) + (=1)"A(Np) = 0
=0
| RUBRAB)
Y T v oon A = EBZOZO Ay o (Hilbert, Serre ,nvvivxin npvawn) 4.2.4 jloown
mmn ar Mz wna A = Aglae, ..., x] v o oo v avm A M= @), M,

J(t) € Z[t] oy % mxnn oy wxpnown P(Mt) me i =1,...,r d; nsynn

1_-[::1 (1_td

n>1959 A, =0, mpm e = 011w npna Snnn ¢ 5y RPITIRG VAaVYHRN DR TN AN
oy mirha xn P(M,t) w on 191 n 9% M, = 0,195 oo Agvmm s M1 A = Ay

T NP2 I ,0NYY DINTRN
My, tq,. 09 M, o A-nranmmn 10 2, 299 .7 — 1 My nan poavnnwr 7 > 1 v nny mom

:A59Tn Yv nPYIN NITO RIOR NIV

0 — K, — M, = Myyq — Lyyq, — 0 (2)
Ly MYoSmmonan K nr L = EB;’LO:O LyyLo=---=Lg.—1=0,K = GBZO:O K, no

Ly YT 9P DDARNN YRD DNTINN MW L1 YY I A Yyn oo ovn onnww ron LM YW mn Smn un
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,TRNRN VOVN 95 0% LA YV DTPN SRR RN ,4.4.13 nnY ah .q = 2::1 Apx; 5 YN PO MYRIN

i o> dim(Ay) = height(p)

93 5w 1227 718 .DAR Ponn wRY A 5w 1an x 10 nn A (919 YV owrIN HRTRA vavn) 4.4.15 arxIn

15 mw Az 58NS o p MR SRR

height(p) = 0 mn 1ox height(p) < 1,4.4.14 nrenoay Az Y pon A v mwor1 YRR PO a0
2 PN ONVRIN HRTRD RIN pAp v 1800 .0 9 PUn ONMYRI ORTR P 0 1N A 50 Mpm MYRI YRTR P 0
ar” =0vpPuc ANpowpy namrnrt Ay 22" = 0w 7210 n op Vi1 YOO A, 1Y A

[ AmnY 1, A Yv var ponn v P
dim(A/Az) = dim(A) — 1 #x.00x ponn sy m 5w 728 © 1mpn w3 nn (A, m) s :4.4.16 nxxin

15 m gern d = dim(A/Az) < dim(A) — 1 ,4.4.10 nn vavm 4.4.3 arnn 2% 0o
T1yeeoy T PV T, ..., Tg MR AT Y WA M/Ax Y o2 A/Az 2 q 071pn Y8R 4.4.10 vovn
Yy N A Yv mroIpn TR RN g R LA Y g Y amn g A Y Ty, ..., ZTq Y0 MmN
v DYpn Nr onpn mwn or oy pava dim(A) < d+ 1 ,4.4.10 vawn 2ad Y @, X, ..., T4

| dim(A) = dim(A/Ax) + 1

dim(A) = dim(A) s .9 mav-m 7 answan (A, ) nam mpn s o0 (A, m) 0 :4.4.17 ARvIn
i dim(A) = dim(A) 700 0801 %% Xm = X 9 A/m" = A/0™ 2.5.5 nnvab  anom

K ovn Xy, ..., X, 3 05nmen mpmn muan A = K[[X1,...,X,]] rame K o :4.4.18 arxin

~

dim(A) =n
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9y 9enn 00 SRTRY oma K[X, ..., X,] omrhen an Yo mipnn nr A 2 ppor canon
a5 1% .dim(A) = n ,4.4.11 o7 2ab a5w nnbwan pn A 1 ompn o mn xn Ao X, X

A~

i dim(A) = n ,4.4.17 nroin

DTen nown 4.5
system of) m1¥n m3WN NRIPY T1,..., T, A¥AP . TARR Mpn 01 an (A, m) o
VAYNI NIRTIND MY IR NNON W2 11D NIIPNRY .M DTPHn YRR NN 22:1 Azx; or A Yv (parameters

a5 4.5.2

an A :4.5.1 nnY
af =0vpoonnamwa € A opw, AX] 20ax ponnnn f € A[X] oo ox (v)

A[Xq, .o, X 20axponnn f e, A apon f € A[Xq, ..., X, w9 5w ontpnn 18 ox - (3)

o aym £ 01 a € Aoy f(X) = a+arn X + 0+ a, X™ nom N nmm
viv1 .fg = 0 v 72 1 PIM aYyn Y1 parn v Trhe g(X) = by + b1 X + -+ + b, X"
v ya deg(g) Yo mmvmnn deg(ang(X)) < deg(g) v f(X)amg(X) = 0 Y .anb, =0
mwnm deg(anm—19) < deg(g) 199 .am—1b, = 0w fg = 0 n ponY Sam Y .amg = 0
W IRIM ¢ 939 a;bg = 0,199 .2 999 a;g = 0 v mom pwm A jaR1 .y, 19 = 0w po) fa,,—19 =10

bo # 0w deg(g) v mrvmnn yan ,A[X] 1 var ponnvr Xy 9xin . fbg =0

n — 1792y 12 00w .= 0 My 1012 MYv ,MINR 09N .0aR PYNN IR A 2 Pan AR 2000
d P

fi€ A[Xq, ..., Xpq]yoma f =50 fiX, ovon AXq,..., X,] 2008 phnn f v n»5wa min

nm pan f LA 2 pan f; Yv mnTpnn TRY P j wp aman caY g = 0,...,d My

vwion gf =0vwpoarn mw g € A[Xy, ..., X1 mar i r pon LA[X, . X[ X

| ORPITIRD NMINY AvnoaLg f; = 0
v q =Y Az 1 A Sworspnown xy, ..., . v Toonompn inn (A, m) 5 :4.5.2 joown
S, o x) € q*t v m k avynn momn owbe f € AlXq, ..., X, .am 5 vnn meprpnn

m o oow f v mnTpnn 5

,4.4.10 nn vawn 15 .d(G4(A)) = deg(xq) = deg(xm) ,4.3.4 noawm 4.3.5 nwn »ad :annn
.deg(xm) =dim(A) =r

A(Gy(A)) =71y
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) M/q RIM TR ONVRT SRR SY 03 NN SY M 7w A = A/q ompnn ana
moya € A Yy powroan o on A ,3.3.6 Akizuki vawn »ab .dim(/_l) = 0 1P (moIpn q
5 2 PRYn P YY g N Yapnnn DwNen Nr g 2 Noy g € A[Xq,..., X, omha 9 a = a + g
Y R=A[Xy,..., X, ] % aoremmmnvmd=1,...,7,2) = z; + q2 0w Yo’ .g MTPN
DWY T, ..., 2 ) 00 a(G( X, .., X)) = gl 2h) oy Ge(A) = @0 g9 /g
D99 XA g DRV Y Gy(A4) 2 %990 nman 5y a 19 Gg(A) = Az, ..., z.] wpnn q nr
vk adyan ommin f 1w a(g( X, ..., X)) = glo, ..., me) gt om L nbynn omamn
mn xn G4 (A) 395 .Rf C Ker(a) ,png oona .a(f) = 0 v v %apy ,f(z1,...,2,) € g°F!
NYHYNN) JIRD MEPNA NYIPN IRT 1250 A7 MV A mnan R/R £ pmmn f1xn .R/R f »nn Yo
A(R/Rf) > d(G4(A)) ,4.2.7 nnb »a% 199 07950 ) D379 p7 (IR 210 NITINY
myvoay L Aapena,pm Aapona ok .mb TV IR [ YV a DNTPNN TNRY 1YYV ANy MR
o) 4.2.10 a7 089 (d(R/Rf) = d(R) — 1 ,4.2.8 nxwin »a% 139 . R 2 0ar pynn wr f ,(2)4.5.1
or .d(G4(A)) <d(R/Rf) = d(R) —1 =17 —1,mmpn npoan 1Y 129 .d(R) =, (A poIr »nb
DnIpnn 99w Ay 3 nenon o < — 1w Yapy Anonn YW NIIVRIN NPLAN YV NIPONY DT PNV IR 4N

i mYow»w fov
ATV NN epn A v 17PN NN ARIN RN

DMINOPR L1, . . ., T AIRA SO DTSAIOWH T, .. X T T mpn 0 an (A, m) o :4.5.3 arvin

VA 5w Ko e nn 5 5vn nraon

o Lf(x1,..,2y) = 00 A% M oarkn v o f € Ko[Xq,..., X, ] 0 anon
v P 7 nvvnn Koy Yyn fi oo omrhe v ooy f Y e f = fi + fierr + 00+ i
Py i > k+19Y fileg,...,r,) € mFT mpin 2,2, € moy YR Lfy # O
2198 DNTPN DV TPRN M Y OV fi Yv DRTPNN 93 ,4.5.2 AR 2% L fy (1,...,2,) € mrtl

| anvnaY nrnoa,fr = 0,99 . mN Ky =01 Ky

099 avmpn on 4.6
D Yy (singular) “mnan” mIp) 125 (regular) "mo»v” MIRI P2 DPNIAN MIIOR N1IVMIRII

1R1D VAVYNAN YV MNPV NNYLN NNR DR PN RIN OR IMYI .577 15Y "Mpnn NN Or nb n0n AT

29 mopw maan myvn e K = A/m nyne ate oy r 1onn mpn wan (A, m) s :4.6.1 vown

2 K[ Xq, ..., X, 501008 Gy (A)  (R)
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dimg (m/m?) =r (2)

oarrop oy anm ()

oy v K[Xq, ..., X,] Y9 1m0 Sxpra nr 9T 2 jpoa (2) 1 (R) © b 1 canom
5 K Syn mopy anna sammer m/m? 0101 .Gy (A) 2 @, /N amnnoab X, ..., X,
ooReR 00 m Xy + 02 X 4+ N2 an ar anand ooa /N2

NP1 NING 2aY (2) N NYan (3) Myvn
Y DTEN MDIYD DIAn VR MR O LT, ..., 2, DIARD OT Y WN m v ANy mn
5w Y8TRA PR DT 21001 Y o8N nown {1, ..., 2.} "pY Iy G (A) = Kz, ...,z
ag: MF — m* /mFHL appynna mam I = 9T v . Xq,..., X, Y wmn A[X, ..., X, ]
m 2 DNTPRY DMIPYAN Y3 %Y noarnn ok (f) = f(z1,...,2,) + ML S mrmna A-9mn Yo
ap(f) = flag,...,2.) +mFH o vy q: N — mP /mFHL Koy apnvn nvman Y
K-nmrpy apnyn nv von ot DL Sy poarnn a9 OFTL Yy noaxnn ai npnyan
o) A4.5.2 poawn vab Sy pn aj ) G Dy L5Y Mn g 3 oRn g DT /MEFL — mF /mbtL

OPANMPR RN 199 NYITY TN N

i D omn Y KXy, ..., X;] = Gu(A) opammer im o), Dnpanmvra e

:4.6.2 joown
I onn un A e .msw omn un Go(A) 1), —oa” =0 v poarra o A vy (®)

by onn un (A, m) 231mpp v an % (3)

v P oo k1 > 0 oop ﬂfzo a” = 0y om0 LA SY Darn DNY DMIAR T,y P N INN
vomin al /al Tl ay Fatt £ 0vab fab Tl as +ab Tl £ 0y € al Nalt vz € b N gkt

N1 N2 mpnn MnYw oinn G, (A)
ay 4+ a" T = (x4 a" T (y + !t £ 0

Jmvw oinn A v ®ar unam zy # 0 viaa

Mnown mnY wNMPR G (A) ,4.6.1 vavn 2y ()7 m”™ = 0,30 a0 wn Ay 900 22 o

| nvw minn A ,(R) 0% 135 K = A/mwra K[ X4, ..., X,)]

NP9 R IMNAG TPYAR N0 NP AY P HY 123 A1 Y350 IR 4.6.2 noawna (1) 'Nin
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921 A ox 1 or 91 A e abw answan A = lim A/m™ 1ympn v an (A, m) o :4.6.3 joown

A4.4.17 nrein »ab m A ,2.7.5 vavn Y M TN HRTR DY FMPHR NN 1N A ,2.6.1 pooawnab anon
nPIRYN ATY 0703 T DN Gy (A) 9 emmer G (A) ,2.7.1 anY sab .dim(A) = dim(A)
9 50MmPR G (A) v pon 9191 7 = dim(A) = dim(A) oy ox A/ 5 ammrr K = A/m
ann vavwnn AT Ny K[Xq, ..., X, 9 ommor Gﬁl(A) or P or 1 oo K[Xy, ..., X/]

| 1 A pnoron A v xer yan 4.6.1 Y0 ompnn

1w oinn un A ,4.6.2 poawn rab 199 v (A, m) oo 57 mipn o an xn (A, m) or

kb a7 932 709IR JAR NP IR ITDOR NP MMIPN JARIVY RIN T ARYIN WD DOVININI TNINA

A — A/m pon npnyn nnnaavn A 5w atw nn K osnnr 1000 o201mpn v nn (A, m) v :4.6.4 oown
o AJm 5y 10 10 joNa

A=K[[X,,...,X,]] &

Jowmmpiavi A ()

Jnpswa o A ()

m® v AR P m =Y . Az; (A, m) Y0 nY DTN NOWN T, ..., T, NN N NN
5V 7aRY M 5T 99N A Sv 7ar 95 LA D VN DNTPNA N AYYIN T, ..., Ty 20NN DIPNAY MY
or .z = f(z1,...,2,) mod m" Tt wpnawm f € K[X1,. .., X,] mmn owde op 0% K
w,r = f'(21,...,2,) mod m™ T mpnn n adynn qou mmn owe xn f € K[Xq, ..., X,]
JPRD MY v f — f 50 ontpon 4.5.2 poawn Y L f (21, ..., x) — f(z1,. .., 2) € mPTE
J = omom 09 ontpnn 9 0w pY K Y 0 v on

R NN Yy, MYy = (y1 +mye +m?ys +md..) mTo wn A= (li_mA/m“ v 1R
M1 1 = fo mod mw P K Sv pon narn fo o ovao n 9 yua1 = ¥y, mod m™ 3 A Yv
MEYTIR P X = (21, ..., %) 1 X = (Xq,..., X)) o1 any 1 = fo © ma pnvvon nvn
Yn = Z;:Ol i(x) mod m™ 1y n ndynn mmn oiwna wn f, € K[X] v 12 fo, f1, f2,... 010
aY Y +m, ..., Yp—1 + M7 mphnna xR 05N DR DAYY 72D MDD fo, s fro1 W TR LR
PN RN WYnt1 — Yn = fo(X) © P 1 adyon f, € K[X] P ommn mrhs op mnwrin npoan
Y + M APINNA PN fr,(X) 129V W s = D py fi(X)

mv y = (Z?:_()l i(X) + m™)p=0,1,2,... NITOI T 19R1 Y DR PXNY TVARY RIOR IPRIN
A nx npnyn i anxnn Yoo i MPIMA MVY Y DR RIAR DRM .0 nYpnn mmn e f; € K[X]

5990 Ypy Mann Yy mmwy K[[ X, ..., X,.]] v o7 T 10 joxa

o4



D79NNON MPINA YN0 NNY ¥ [V.0,32 NOR] 205 .MndY DINn XI10 A ,00vnN 8% 11IPNY 290 22 7NN
A nnnw yan 2.6.9 poawnn 1w T mpra A Y v ,(8) 209 199 o T mpie K[ X, ..., X, ]

P27y TN MPIa Yya RN
| ndwa 1o A ,(2) 2% ,0791 .MnYWw1a M0 MW TN MPa Syann Yy o

s aroopw 1 1oon (A, m) smpn 701 nn by oxan oxnn :4.6.5 loown
A (R)
Jomswamo A (3)

ArTamwanrnm A ()

,1.1.2 poawn »ab 135 »or1 m” oxanh 91pw 7o A7 orannw nmir dim(A) = 1 v aminn canon

[ A AT DY (1) ) (2),(R) DRINN

:4.6.6 nayn

151 4.6.4 vownn .mNsWa D NOY MPHA NN DX ORI IN APPD A0 V' 0K v 5y 171 (K)
PPN M AP A1 23V

ox .1 5 mw a5 xnna smppn ana 5e o e ,dim (V) — 1 5mw V' 5w 271 b 10n DR 7075 (3)
pndim(V) — 1 7omn MTPI AT N2 N0 PN 1247 17937 ,4.6.5 poawn 205 3R ,Arpn nTpIN 797 9012
(intersection theory) onna nmns voa man wnonn nwnn 1 moy moon V' 50 my»y nn v sy mp
ST 5y mponn ov

PPN NN Y TANA AZY NN NTP A € V(f{ ) sm K a7w Syn v 1onn naao8 ayr Vooan (3)
nrar (4.6.4 vown 95) K[[ X1, ..., X,]] 50mmpx abw mpnn nnn bw answan e a2 a or.r na a b
1TPI2 RION (DPOTMIPR 272 1Y) 115N

A4.6.4 vawna yain »70mNIA 77PN 77 89 2953 JONT 1133 D22227 T0I 0 MY 1937V TN MPrIon vawn (7)
[Mat94] sv 163 7v1 20.3 vown ax1 Buchsbaum 1 Auslander »p %y nai xn

oop R ,ATY Ppp A ox K naww v 5pa (A, m) pbwp smipn 101 nnp Kev 12 5w M vawn (1)
[Eis95] 2191 mmy an1 A = K[[ Xy, ..., X,]]/T vp K[[X1,...,X,]] 5w 1 5xvx oprnoopav 1900
|
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MR SO MoYWYab »apy ina .o

DN P20 71 98P 192 .D0TPHN ATV NANIN INRS 0 19K IRWAL MO0 D) M7 0 17 MY 2y Muiwa mip;

222371 NIPHN AR O3 PN 2P VYN 2V MOYAZ 237y’ N2

Syanin 5.1
DRNNN (MOPN2) PpnYan ’n f o Yy Amnn nnvwn . f € K[Xq, ..., X,]yamo K o
nows ndn a € H(L) ntpp [H(L) = {ac L"| f(a) = 0} nxapn nk K nr ppnn L n7v 935

H-(a) 0w i mp on

f oy A™ 39vna synnown nx H 2000 9w omwos f € K[ Xq,..., X, ] ramw K o :5.1.1 nny

a3 H 5wompnn nnn ox p1 o8 avws a v 5w K -momwvinptma € H(K) nm

1 IM={geR|gla)=0} A=K[x],i=1,....,n2;,=X;+ Rf ,R=K[X] po1 :A000
murTIRIpn an un A LA™ 1 f Yo moarn Yaqor un H ,f(a) = 0m.m = {g € A| g(a) = 0}
2 H v ompnn ann &0 Ay 1 K on pyarwn mw ,anknna Ay R 2 oran obrer on my N, H Sv

n1gp Np>In Mo min g(X) — g(x) npnynn 12 Yy I .a
0— Ropf — Roypn — A — 0

1 DPNWRT DORTR YV NI 1o 93 Yo 7R ,4.1.9 vawn rab dim(R) = n ,4.1.5 vawn rab
JR 50 oar ponn wr f 3 orin .dim(Rgy) = n o LR Y9 1 Sxvrr Ny xon novn R
or p1 or H Y% nowa a v many wiyw nhy 4.6.1 vovnn dim(Ay,) = dim(R) = n — 1
P or H 5y nowa a w mond Pz mAy, /m? Ay, 2 m/m? yomn dimg (mAy, /m2A,) =n—1

K 5yn 0yMupy manIn YV np>TRn NI¥Ppn NYToNN R N1 718 .dim g m/m2 =n—10oK
0 — (Rf +9M%)/M* — M/M? - m/m? — 0

R RN M Xy — ay + M2, .., X, — ap, + M2 20 D/OMN2 anny ooa
a0 f v v mno .f ¢ M2 o dimg (Rf +92) /M2 = 1m,m/m? =n — 1 o

m
_~~ Of

f(X) = e (a)(X; — a;) mod IM?

i=0
o .
N0 a ImYa ,G—)J;i(a) # 0w 77 pY RN

i dimg m/m? =n — 1 395 .f£(X) ¢ 92 »x ,nows a bR ;jon5
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29550 1apyr N2 5.2

D7PNYRY DORTR YV 1N JUPA DD IBR A D (codimension) mbin mnn .R 10 Yv SRR a
DYNYRT WYRTR NIWIY YW Mpmn 7IRA N0 codim(a) wran jar1 .codim(a) 2 1MR 1901 .a DR DOPHN
ACpovP RYWP. C--- Cp1 Cho

nanIn> nwp or K Yyn (separable) o F' v 0mik uRr LK 07w Yvn oo axun atw o
orrw F 1 ty,..., . owp 1ImY  (separating transwcendence base) Tran mby voa F/K

AT R namn i F/K (t, ..., t) w 79 K Spn nmadvr omdn

1I=5" Rfi K wpomraononR=K[Xy,...,X,],nmw K vp :(1py m) 5.2.1 vown
2 R/P 50 nnp atw nx k(P) 3,Rp 3 IRp Yv man mpn nx ¢ 2001 1 nx pppa R 5w mwxr sxvs P

sk (P) 3J 5w annena 8 5 P vmn J dw atoyan nx J 3 1001 1y o3py nxon nx J = ( 88)];)
J

p=P/I1A=R/I

rank(J) <c (n)

D& P71 o8 227 mpn an v Ay v K 5w amas namin s k(P) w my o char(K) > 0 oy (2)

rank(J) = ¢
(David Eisenbud) 723mx 717 5w Commutative Algebra 190 5 604 1 404 0Tmy Ax7 :nNdIN
7798 DN’ 112w 205PN MIVMIRIN NTPHI 72PY? TN NR NON

powons mpa K ot oyp A" 2 mmpn v moon ap9 o8 maaor aviap Vooan :5.2.2 arNIn
acV(K)mmlJ= (88)];]) mo.acV(K)an.fi,..., fm € K[X1,...,X,]
rank(J(a)) <n—r (R

rank(J(a)) =n —r oxpnor a1V oswompoannns.amio mamn K(a)/K vmu (2)

n¥apn nr K nr @pnn L a7 959 orann 11pnynd V nr AR Y01 mny  anm

V(L) ={x"eL"| i(x) == fu(x) =0}
z; = o1 OR .R Yo mory dxrr o L wymwrmman L =Y RfivR = K[X1,...,X,] 00
MUPTHINIPH AN RIpIN) M o v A = K[z, ...,2,] = R/Ivami=1,...,n,X; + 1
RN X = (21,...,2,) ,(V 50 nhixsn neepan nmw rxipin) nto xn F = K(zq,...,2,) (V 50

v .(4.1.5 vawn) r = trans.deg(F/K) = dim(A) 1 (generic mouxa nxy monn) V(F) 2 n7p)

.codim(I) = height(/) = dim(R) — dim(R/I) = n — r pnoxr1 I 1280 19 %
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Py p e Klzy,...,z,]| p(@) =0} m P = {p € K[Xy,...,X,]| p(a) = 0} »»

A, = {% | p,q € R, q(a) # 0} ,Aa P50 nmpn i p LI nr epnn R Y9 mMmwry SRTR RIN
ab P oymin J Yw amyan un J(a) 1 ,R/P Yo mann ntw xn K(a) ,a 2 vV oYw mipnn »ann rn
oR pM oR Y31 Ay ompnn ann ik ,nTre mamn xn K (a)/K oxy rank(J(a)) < n —r papy

i rank(J(a))=n—r

J@) Z0or VY noiws a v nr 5.2.2 arvin Y onmoa
K(a) = Ky,m=11mvmnv 5.2.2 nrwin S »v19 mpn xin 5.1.1 nnd

JDN HY DORNIAMT 1IN (ﬂD']'Nn) NN 15910 2950 LAPYY N2 NNoINY nYTPR PIan RIRY

o8



15p YY DO YT 5.3

P399 595 IR NP NAIRYY RN BR AvE nn d: S — M apnyn S-mn M yan S v

d(f +9) = df +dg
d(fg) = fdg + gdf

R=pan»yd min d v oamr ,R->971 Sv oraimmn ®0n d v R-nhadr »wn S vt qona or

9y IR d R-prna s €5 1R Yv Y900 LRIIryy nvn 21w X Ronyared myn 5w oioon
mn S — M R-mun 9 Y0 Derg(S, M) nxapn .R-nwrd nvn mam (sd)(f) = s - df anoan
S9mn

S n nn aix mponn mmn X a1w Yyn XY 2 momrhen an S = K[X, Y] ,amth
.% P Yy aan 1 owan S-vmn un Der g (x(.S,.S) w mxnd iny angy Jinb

07w Syn Vopmaaor nyr Sv mourThripn an un S or AT M = S MY ®n Ima Pavn
V90 omivrn opronn nnap un Derg (S, S) nx

da = 07, Rpxrydor,pv.darn v d(l) =0wyand(l-1) = 1d(1) + 1d(1) pwnn
da=d(a-1)=ad(l) =0, .a € RY%Y

NXIPN P Y I8N0 STNTINN WA 5P HHRRIT YW MYTmn LRk Soan Lgp oamm :5.3.1 M
:oxan womn oy {df | f € S}

d(af + bg) = adf + bdg

d(fg) = fdg + gdf

Renvu nrapin R-pvn mn dF S f nr apnynn d: S — Qg r npnvan Ldg/g P 9V 10D0 A1 91Mn

IPY0IIND

Somn Moo :5.3.2 nnY
od=cvpe: Qgr vrovavmmaop . R-novne: S — M oan (r)

.DerR(S, M) = Homg(QS/R,M) (2)

939 €/ (df) = e(f) » Sy € PR P (R) PR PMAY 173 (R) RN HY WINHN MDY WA (2) RN AN
| fes

Llg/r PR 1INY MIPY 1982 POON Derg (S, M) nx 2wvn% »1o9 yan nninxa andn Sv (1) n

AT 9TIND DR IPNY Junna RIaR I
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R-m258 S onn :5.3.3 nnY

oprn f € R[Xq,..., X, owoa o9 xy,... x, €5 95 (R)

n af

d(f(z1,...,x,)) = X,

(.’L‘l, Ce ,$n)d$i
=1

S hyn,i € I ,dx; o5y 1wn Qg g 9w, S = R[xilicr ox (3)

J(X, 0, X)) = X1 - X 12w napna mmnh aon (R) ORIN DR L(R) RINND YA (2) RN 097

i > 2y .ammamyoni = 1My .0 > 1w mpn f(X) = X owen may @ Yy ax1vna n»nm

pnn
d(z") = d(zz'™ 1)) = 2d(2") + 2" Lda
. . . d(X?
=2(i— 1)z ?de + 2 dx = ix" " dx = EZX ) (z)dx
MR, -y b > 1 OY R — 1 MY AN ANDIY 1 ANy

Atz - ain) = o d(aiz - air) + 2 ool d(at)

1 . o P
= a2iigx2 e alrndrg 4 2l il ey,
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v ,0.7.8 ANvID 5w X ponpn yan oo pIvn aTIo nanmn L/K 1 NI U9 N Alg DN
mop wn ar mndw mnm A/p Sw moon atw xn Loy wn dimp Qp i = trans.deg(L/K)
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